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NOTES: Exponential Sequences (Geometric)
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Examples

1) Write a recursive rule for the fao—lfl'owin—gi~ =
sequence

5, 50, 500, 5000...

an = 10(0.) “o 100
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2) Write a recursive rule for the foflrlowir}g—

sequence
-4,-24, -144, -864. .,

Gy = (DQn-‘

3) Write an explicit rule for the following
sequence

5. 50, 500, 5000. .
N -
Q.= H (10

4) Write an explicit rule for the following
sequence

-4,-24, -144, -864...

On: ~4 ((93“-‘

5) What is the twentieth term of the
sequence whose nth term is a,, = —3(2)""!
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Caae? 15738 64 D

6) What is the sixteenth term of the
sequence whose nth termis a,, = 2(-3)*!

X e® a('?’Yb"

O = -286477814

7) Find the 9th term of the sequence

250, 18,5547 \
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8) Find the @8» term of the sequence

-6,-19,-54,-162...
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